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QUESTION 1

How are wireless endpoints registered in the HTDB in a Cisco SD-Access architecture?
A. Fabric edge nodes update the HTDB based on CAPPWAP messaging from the AP
B. Fabric WLCs update the HTDB as new clients connect to the wireless network

C. Border nodes first register endpoints and then update the HTDB

D. Fabric APs update the HTDB with the clients\\' EID and RLOC

Correct Answer: B

Reference: https://www.cisco.com/c/en/us/td/docs/solutions/CVD/Campus/cisco-sda-design-guide.html

QUESTION 2

A network engineer must optimize a campus OSPF deployment Currently each time a type 1 or type 2 LSA is generated
within an area, the OSPF process must recompute the entire SPT

Which solution improves the recomputation process?
A.iSPF
B. BFD
C. SPF
D. PRC

Correct Answer: A

QUESTION 3

Which two routing protocols allow for unequal cost load balancing? (Choose two.)
A. EIGRP

B. IS-IS

C.BGP

D. OSPF

E. RIPng

Correct Answer: AC
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QUESTION 4

What is the purpose of a TLOC extension in a Cisco SD-WAN network fabric?

A. to facilitate WAN Edge router redundancy within a site

B. to identify the physical interface where a WAN Edge router connects to the WAN transport network
C. to expand the number of colors that are potentially applied to a network transport interface

D. to aggregate multiple physical interfacesinto a single logical Interface

Correct Answer: A

QUESTION 5
DRAG DROP
Drag and drop the characteristics from the left onto the Yang model they describe on the right.

Select and Place:

independent of the underlying Open Model

operating system

specific to the underlying

operating system

vendor neutral

Native Model

provided by the vendor for
device management

Correct Answer:
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